=

=2t/ vii

01 2 Z2EARDR
1_%8%A] sfejcigle] Bzt
2 ATET} AT AR

02 OI2X HE

L8/ ARl HiA
2_EBS B Yt A3
3_Foiet Arel4] HiA]

03 ZETAIZ Hlu 2M
1_ZA717e} FUQ| Z8&A] =9
2_AA HEA] AlRle] EEEAIE
3_3slEetE(Resilience) EAIQ EEEAI] AT

4 24

04 M23 EBTA| X|EMA 715
1_AME Z8=A] ARAA T 2
2 &3 EETA] X BAA Tt AW ZA

3 MY E8:A NEAA

13

16
16

41
51

b

63



vili [ MEY TETA| X BAHPA| 7HL R MEA ] G/

05 M3A| ZETA| & T
1A 284
2 37 284
3_AHEA 28

4 24

06 EETA|Zo| TS flet HXH
1_AEe] 2874 Ake 9t ZUEF AAS

Summary of findings

S

109
124
136

142
142

144
146
147

151
165



FH

=2t/ ix

(3 2-1] 2154 HiAle] TixpA]
(I 3-1] HABITAT III9] 38 TA] oAt} EX
(3 3-2] 749 vt AB1E EiA, 2005-2011

[ 3-3] 8, W5ke BAIE i 99 2R

[¥ 3-7] Sameh Abdallah El Alaily7} AAIRE 5714] W
(3 3-8] F=F AHFAL] FAA slEgtely ZeY
[3 3-9] v= SEede] SiEg=d A 2]
[3 3-10] SIEEEA TA19] 497t AnE

(¥ 4-1] A7t o =8 ARG

[ 4-2] T84 2Rl

[# 4-3] -S54 54

[(F 4-4] 984 58%=

[ 4-5] A12F 28TA] 98 7984 S8
[ 4-6] CHAIH 9= AE F8%

[ 4-7] AZE BAE I=) AR T8

[3 4-8] A IF AHE S8

(3 4-9] AEH 99)) AE 8%



X [ MEY ZEEA| 2| BAA| T2 MEA] T8/

[ 4-10] A2 Aol 29 AR S8%

(3 4-11] AR 99 238 $8%

[ 4-12] ¢Bglzet HY) AE 8%

(¥ 4-13] ASE g1zt W) AR $85%
[ 4-14] A=} Hg AHE S8

[ 4-15] (TBAMIA HID) AE T8

[ 4-160] ARSE F3AHIA HED AR 8%
[ 4-17) SAHIE 2 A S8

[ 4-18] AR A S2%=

(£ 4-19] ASE AR A® 8%

[ 4-20] Ao} A #E S8%=

[ 5-1] Ae% Z8TA| A&

(3 5-2] YA 2 Aia vle(d=)
[¥ 5-3] OECD 8 =7I9] A|YAE

(3 5-4] OECD F8 =719] A4 vitg
[3 5-5] BAPIERIT 5 &t vlg

[¥ 5-6] OECD 8 =7}9] th& ol &
(3 5-7] AUE

[¥ 5-8] OECD 8 =7I2] AdE

[# 5-9] FFE

[ 5-10] OECD 8 =7} H9E

B8 I 3§ KRR R I 8



=2t/ xi

(# 5-11] ¥]8++4] Bl& 100
[¥ 5-12] OECD F8 =7} vg74 vl& 100
[# 5-13] Aofiel 128& 101
[# 5-14] ARIEY 7RIS 102
[ 5-15] Al=d 7|t 103
[E 5-16] T5EsjNt vl 104
[¥ 5-17] OECD F8 =7} S5 Eslelit vig 105
[F 5-18] ToAHIA TEE 105
[ 5-19] 44 A= 106
[¥ 5-20] OECD F8 =7}2] 4] A7EE 107
(3 5-21] 2=Rlof| et 74 108
(3 5-22] F3UhFe Auds} 109
[¥ 5-23] OECD 8 =719] F3dtH vi& 110
[3 5-24] A4 FFE(EA, 121 oV 7D 110
[¥ 5-25] OECD $8 =719] FA4] s 111
[ 5-20] 4] FHEAL) 111
[ 5-27] A5ty Asolsrtt A& 112
[3 5-28] AVFHA =4 113
[ 5-29] HAKE: 114
[F 5-30] A3 T 115
[¥ 5-31] OECD F8 =719] 234 W= 116
[# 5-32] OECD F8 =71°9] ZUNHA] k3™ 116
(3 5-33] WEeHY VST 117
[# 5-34] OECD 8 =719] W-SARL AFYAF & 118

[ 5-35] AL TE= 119



Xii [ MEE LEEA| | HAPA| iR MEA 12| X8/

[# 5-36] OECD 8 =712 7iQ13 *2] 7l
(3 5-37] F3<folmto] QIR =

[3 5-38] F3<jeluto] o84

[3 5-39] 33571 CCTV +3E

[ 5-40] -SFHS AHIx

[ 5-41] HAF Fd ==

(3 5-42] ¥AE] HE=

[ 5-43] OECD 8 =7} %A= ¥ QXHl&
(3 5-44] FH&

[¥ 5-45] OECD +8 =719 F&&

[3 5-46] ARSHA] 5=

(3 5-47] AGAE] Hols

(3 5-48] o% A==

[¥ 5-49] OECD 8 =719] Bkl gt A==
[F 5-50] A9 24

[E 5-51] AFLBARE

[# 5-52] OECD =8 =71°] AFeeAF Hlee} ol
[3 5-53] 35Y 5 o4 HiE

(3 5-54] ARISA] Aokl

[3 5-55] 3371 AlE=

[3 5-560] FFEE &

(3 5-57] 3371 FH=(AEAD)

[¥ 5-58] A& LETA| X|ES} OFCD A& HW
[3 6-1] = AR Aullo] At

119
120
120
120
121
122
123
123
124
125
125
126
128
128
129
130
131
131
132
133
134
135
136
143



Z2}/ xiii

19 1-1] |49 &

[(1¥] 3-1] OECD9] =84 % =<

[79 3-2] OECD A&+ X824 A4 1] 3]o] g
[ 3-3] F=ma9] Z8EA] L9

[13 3-4] OneNYCQ] M= H]A

(1% 3-5] 3lEEEA =0)9] 8 Uzt U5

[(13 3-6] OECD2| ZEELAIE Fet siEaEly oY

[0 3-7] H=d7ao] EA9] sjEelgy g4s
(19 4-1] Z8&eA] 8

(1% 4-2] Z8=A] ARAA

[ 4-3] a4 2R

(1% 4-4] /884 58 %=

[ 4-5] A EE 58%

(1% 4-60] 7884 58 %=

(138 4-7] A 58 %

(1% 4-8] CHAIA 9= 8%

(1% 4-9] X153 49y 58

(17 4-10] BRIz} Fd) 8%
[ 4-11] F3AHIAS HE) S8%
[ 4-12] AR F8%



Xiv | ASE TREA| 2| EaH| ZHLTE ASAle] IaA

(19 4-13) <SR4T A FAT
(28 5-11 AYARCE=)

(18 5-2] AA Hlte(A=)

(18 5-3] MRS & tiEA) vl
(1% 5-4] AAE

(1% 5-5] FAE

(19 5-6] vl Bl

(713 5-7] AofQl 785

(19 5-8] ABIEE 7RIE

(1™ 5-9] =3 A2 7|H+g
[(19 5-10] s5==follit vle

(19 5-11] EAuA wkEe

(19 5-12] 4] AT=EE

(18 5-13] £=Qlof| gt 74
(19 5-14] 54! vl

(18 5-15] FAH] FHEEA)
(18] 5-16] =AY FHE(AR)

(1 5-17] At AEol5et Hxle

(29 5-18] AAHA =i
(1% 5-19] =AlE

(17 5-20] SAE TS

(18 5-21] &S U=

(19 5-22] A% TEE

(1% 5-23] 3371% CCTV L33
(1% 5-24] SFhe Al

S

B § R R 3

100
101
102
103
104
106
107
108
109
111
112
113
113
114
115
117
118
121
122



(1™ 5-25] B9 A=

(19 5-20] =

(1™ 5-27] AR]EA] =

[ 5-28] A9AH] ol

(18 5-29] Hofekes Al

(19 5-30] o= A==

(19 5-31] A/ A4

(19 5-32] AMdEeAE

(19 5-33] 85749 & o BlE

[ 5-34] ARl Aol =)
(1™ 5-35] E571F A==

(19 5-360] FEE s7he

(18 5-37] 3571 HEE=(HEA)
(13 5-38] Al E8/ A& vuwadd
[ 5-39] 3%t 2843 A& H|wady}
(19 5-40] A¥ds 8/ A vlwady}

[0 6-1] A29] AN BBE Q4 A

E2f/ xv

123
124
126
127
127
128
129
130
132
132
133
134
135
139
139
140
143





